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1)  Which is a factor of x2 – 5x - 6


a) x + 3
b) x – 2
c) x -1 

d) x – 6

2) Which is a factor of x2 + 4x – 32?


a) x + 4
b) x – 8
c) x + 8
d) x – 6

3) Solve for x:
 24 – ½ x = 36


a) -6

b) 120

c) -24

d) -120
4) Which is prime?


a) x2 – 144
b) x2 + 2x +35
c) x2 – 25x + 24
d) x4 + 5x3
5) |3x – 9| = - 18
a) {-3, 9}
b) {-9,3} 

c) {3, 9}

d) none

6) The value of the y in the solution   
12x – 7y = -84







8x + 7y = -56


a) 10

b) -7

c) 7

d) 0


7) Solve for x: 9(4x – 1) = -81

a) -72

b) -2


c) 2

d) 72
  

8) What is the first step to solving for x?      5x  - 4  .  = 8 

                                                                           7


a) add 4
b) multiply by 7
c) divide by 7

d) divide by 5

9) Solve for x:  35 – 7x = -35


a) 0

b) -10 

c) 7

d) 10

When factored completely, which is a factor of 4x2 – 16?

a) (2x + 4)
b) 2

c) (x – 8)
d) (x – 2)
Part II:

11)    2|7x + 14| + 1 _  = 17


12) 12(8x – 5) = 9(6x – 9)



5

13) Factor: 14x2 - x – 3


14) Solve for x:
4x2 = 3 – 2x   

15) Solve for x:  3x3 – 15x2 + 18x = 0
16) Solve for x:  8(9x – 7) – 11(6x - 7) = 3   

17) x = 7y - 5




18) 5x – 8y = 11




    9x – 8y = 100

      

       6x - 10y = 13

19) Factor completely:  4x2 – 100

20) Solve for x: 3x2 – x + 5 = 0
21) x2 – 16x + 15
22) x2 + 4x – 45
23) x2 – 2x – 3,720
24) x2 + 26x + 165


25) Put into slope intercept form and graph (use your own GP)

a) 24x – 8y = -16

b) y = 4
c) x = -5
d) y – 4 = - ½ (x + 6)

